Rr(A) =R(A)/0,18 Relative Reflexion
OstwaldFarbe: Gelb Y, 112495 ;=700 Aq=570

Rr(\) Dreiecks-Helligkeit
6,00

Rr(A) = R(A)/0,18 Relative Reflexion Rr(A) = R()/0,18 Relative Reflexion
OstwaldFarbe: Griin G, \1=470 ;=570 \¢=520 © OstwaldFarbe: Rot R, \1=570 ,A2=700 A¢=595
Dreiecks-Helligkeit: T, Dreiecks-Helligkeit: 1"
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Rr(A) = R(A)/0,18 Relative Reflexion Narie & §pe&€tr]a\berele}145 Rr(A) = R(A)/0,18 Relative Reflexion

OstwaldFarbe: Cyan C,11=400 A>=570 Ag=495 Ry 570_770 ¥, 520_770 OstwaldFarbe: Magenta M, A;=570 A;=470 ,A4=520c

Ri(\) Dreiecks-Helligkeit:  T*,, Gm 470_570 G, 380_570

Dreiecks-Helligkeit: T,
800 4.000 Br 380520 M, 570_470 o

6,00
6 Optimalfarben (0), Yy=90, Yy,=3,6

6 van maximalem (m)Cyg fOr AOD

in Buntwertdiagram (Ay, B)

n

Rr(A) =R(A)/0,18 Relative Reflexion
OstwaldFarbe: Blau B, ;=400 =495 \¢=470

Rr(A) Dreiecks-Helligkeit
6,0042.999_ _

Wellenlange)\/nm

egz62-6a

ohne N-Reflexion
Normreflexion
0,036<=R(A\)<=0,900
Relative Reflexion
R:(\)=R(7)/0,18
T*rug=40logR:(A)]/log5




